INFIQ GRADE 1 WORKSHEETS

Advanced Addition - Regroup Tens and Ones

Name

Date

Circle the correct answer.

Which of the following is equal to

: 94 =9 Tens + 4 Ones

a) 4 Tens +9 Ones

] [ b) 3 Tens + 64 Ones

Which of the following is equal to

: 85 =8 Tens + 5 Ones

a) 4 Tens + 45 Ones

] [b) 5 Tens + 8 Ones

Which of the following is equal to

- 48 = 4 Tens + 8 Ones

a) 3 Tens + 18 Ones

] l b) 3 Tens + 28 Ones

Which of the following is equal to

- 31 =3 Tens + 7 Ones

2) 3 Tens + 17 Ones

o) 2 Tens + 17 Ones

Which of the following is equal to

- 63 = 6 Tens + 3 Ones

a) 5Tens +13 Ones

| ‘ b) 3 Tens + 6 Ones
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